BIR1 R&¥—b-TJa4Zwia

Temman

+0

R gar -+

RS

et

15—k

Nn=z

/4

N 8 1 ERES

100 —2X
FUN

N—=TR5—|

Jq4Zwvia

RIE2 $1#km (/\—76km)

BBWE T N—T0X 7Y 22017
I — A &KX

A3

10 #OL—X 5+ 0. &EEmR

[1009%n|

S AL
arveEr—Fk
$EEES
[(005k]  L/\16kn]
2 [ "7k |
[(0d] 7N
[[on3k [ /\6kn |

/\5km
L —=
O——

Q
-/\1 7km
.’/
[/\12kn ]

/
S

[720k]

B4 REMRBHL

IRTATA
Fo/09—
IxAR
——— "
T 1Y EEEE
— R (1| e — e ————

={EMR G2 AR

B\ /\—7 15 +0OR5M

RIES

N—79.3 0O/, E3#EK= (15.4km).
iR 2 h'FR

0 O O O OO
<—

——

O 404— Vs

A%
R
-
’ ] =
7 BIB7 &2%Kks (11.5km)
J JL/JM
A ] wasH ol

A

(2= TAVAS

Q
#ME

a4

=
5
>
=z

AN

H

BIES N—TJHUEL (3hLARASZER) ND2R i AMBH
% J— X N—BEEEET IS é ELE

FhLA s

AR KIE =

i

]

17

Jis

%

RE
L_Zgg__J

Jf




